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Clnuikip 15 170 600
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65310000] HiEywmpwlywinpjwi pwyjunid PLUL Tpund 1 501 600 501 600
65210000] quugh puwhumd PLUL Tpwd 1 512 000 512 000
UnuUniliu Swnwnipiniiikp 0
65111000 fustynt 9ph pwytunud RLUL A 1 0 0
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64211000]0ownwympimbitp PLUL Tpuwd ) 45 000 45 000
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‘Ukpphli gnpdnigmidukp 2 900 000
99600000lglind shwlinhuwgnn wy owfuubp 9.00 TQpud 1 100 000 100 000
wy] Suwnwnip. Aknpphipnud PrLUL “pwd 1 2 800 000 2 800 000
Gpuubbjulwiht ijmpkp b hwgniuwn 50 000
30192100] nwnhGGEp PLUL huwn 8 100 800
30197232 pnpwwwliwly, wpwgulwn, pnpjuw peud hwwn 40 90 3 600
30192121| gnhywynp gphy poUL huiwn 24 100 2 400
30192137 dwwhwn, gpubhint dhomlny 2 PLUL hwwn 20 60 1200
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30197632 pninp, Ad $npiwwnh?2 /21x29.7/ PrLUL wintth 11 2 500 27 500
30199430| poupp GynuiGbph, npgulyibipny PLUL wintth 3 270 810
3019943 1|ynpklwnnp ypadht rLUL huwn 3 280 840
Unnpowuywhwlwmb b jupnpunnop yniplp 50 000
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33141115|Fudpuly PLUL uintth 3 300 900,
33141136|Ejwuwnhl phinn (UkS, Uheht) fLUL huin 2 2200 4 400
331411 12JUnbquith (1Ejynujjuun) PLUL wintth 1 100 100
33675000{2nwbth whpnpuhy PLUZ hun 6 125 750
33651100 Uunipwnnph uuhpin PLUL hwin 2 150 300
33631600{Unghpun pdpljuluts eLUL huitn 5 252 1 260
33632130] Thlinpkluwly wduynijw rLUL huin 10 70 700
33661200| Loy kpuidhn PLUL uintth 1 400 400
33631600|3nx PUL hwwn 1 210 210
33632110{'Un->yyu1 hup PLUL hwwn 1 1 790, 1 790
33661240] Mwpughunwng RLUL wintth 2 100 200,
33661200 Uywquwinntk hwp LU wntth 1 1200 1200
33622000{Euljuipy Guipjy POUL huwn 2 215 430
33673000]Lph Yupitkp (Nazivin) PLRUZ huitn 1 950 950
33632000{Uu hqupnnpnt punily PLUZ hwwn 1 2250 2 250
33632000{thyndklimly puncl pLUZ huwn | 1200 1200
33632000] Lwniuu] puntly PLUL hwwn 1 1 850 1 850
33632000] Lhypuui) punty rLUL hwwn | 1 680 1 680
33141310[Lkpwplhs (3,U) 51,10 y) fLUL hwwn 15 40 600)
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33141411 Mhligkwn (Uhohl) RLUL hun 1 1230 1230
33141111|Unitnnun]ply LU wnuh 10 50 500
33141411 dhljuwninp PRUZ hwwn I 4 400 4 400
33661200 Ulujghta PLUL huwn 10 100 1 000
33661200] Utimght wdwynijw 50% PLUL wnnuh 2 300 600
33632000 Uhlndkpu POUZ huwwn 1 1 550 1550
33632000] 2bujuphtuh punil RLUZ huitn 2 525 1 050
33622000{Thlwuny UL | wdynijm 5 500 2 500
33631600| Fwnwnht htnniy PLUL huwn 1 3 060, 3060
33632000{Lunhln] puntl e huwn 1 700 700
33631600]Uniyngky (100u7) RLUZ huitn 2 670 1 340
33141430]Uwnikph) dkntinglitp eLUL wnuh 0.5 3000 1 500
38412000{2updwswih RLUZ hwwn 2 750 1 500
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19641000f wnjhtphjbGwihG wwnly, wyph hwiwp| PLUL huwn 6 10 60
31531210f ytiywnpwlywi juduy, 60W, 80W, 100W| LeUZ hwin 25 100 2 500
31531230] Lithupulwi puduy, 200W FLUL hwin 9 240 2 160
31684100 Jwpnul tpyplbtinwih PLUL hwin 1 500 500
33761000[ nnyn(iny, gniqupwGh pnunp PRUL hwwn 24 100 2 400
39837000 guhuwuyty PLUL hwn 3 1 800 5 400
wytiy gnquiphwih htw,
39838000 wjwuwmiwuwihg BLUL hwwn 1 1 300 1 300
39811300] hnwnwgkponn thonglitip PreUL hwwn 5 370 1 850
39831241| o6wn P~RUL hwin 6 240 1 440
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39831242 hwiiwp PLUL hwin 2 760 1 520
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